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— The committee commanded that construction of the building cease.
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Azbe] 40utelo] Wi whgtvh A glof Fet.
— They had to fight against winds that will blow over 40 miles an hour.

@ 710) BE A2l oL BE DM Aopr,

— The seeds of most plants are survived by harsh weather.
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By 1955 Nikita Khrushchev @ had been emerged as Stalin’s successor

in the USSR, and he @ embarked on a policy of “peaceful coexistence”

3 whereby East and West @ were to continue their competition, but in a

less confrontational manner.
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@ (MHHE 20{2= 2H0ICE embark on2 ‘~0f Z45iCt ~Z AIRSICHE}
IHAHIZ %Hf§7 | MIC

@ (N + whereby S + V(2IEiet 28)9] M)HE E0{E= EXI0ICE whereby= BHAFAIZ 2
o 222 0180, 'S7t Volz BAF =2 'T201| 2JohAl S7t VotCH 2 shAlg SiTt whereby FI2
JXTH 2FO0| 0jofX| 1 o= oAl SHi=Ct

@ (xRNt (be to BEHS S0{E= 2H|0|CE. 012! East and WestE Fl0 HEALZ their
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raise =2Yo7|C}; Sa|ch A7 [atch
due to ~ [}20f(=because of, owing to,
on account of, by reason of)
committee 123

command Z&s|CH=dictate, order)
construction 4
cease BHECH
(=quit, halt, terminate)

fight against ~2t MLt

harsh E%=8l=severe, hard, intense)

SHAZICH

emerge F&oICH LIRCH

(=arise, appear, turn up, show up, loom)
successor =Xt

< predecessor ZIXt

USSR ()4
embark on ~0i
(=enter upon, launch, undertake,

Zpaict, ~2 AIRfBICH
commence, initiate, take up)

policy &=

coexistence 3&

continue ~S Zl&otct AL e/t

in a &@8Al manner(way)

At Aoz FRAGH
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— The police authorities had the woman arrested for attacking her neighbor.
@ Y7k W= 25 ol W AS5E2 @7l ofAl Zot
— Don’t let me distracted by the noise you make.

@ 7Fe e 2w AVF A ¢eE 8 AL

-

— Please let me know the result as soon as possible.

= S 2k Aol Mot Aol HEE 71RE AL Redhe

— He had the students phone strangers and ask them to donate money.

@ SHES 53 1 3] Hok 239l

!

It is no use trying to persuade the students.
GERLE R LT RERE Y

— My house is painted every five years.
@ W7t &2 ul & 7150l 5ol olAf 2= Ae Eekt

— As I went out for work, I saw a family moved in upstairs.
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@ — be distracted
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Ol arrested’t SHIEA AZ=IULCE
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; CIESE N+ S+ Ve 2XUM= S +VIENE &
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= 0] Ol Ok= Aoz A dlch= 2101701 SAFEER! know?t SHIZA| AL
@ <(have + S50 + SAHEE/p.p.2 FEDS (ask + X0 + to-V| FEHE SOE= 2X0]
Ch =X0{Q! SIS0 R2= ARSI TSE He A9E S&ig dok= A0[7[0f SAHRI
phoneO| SHIZA| MAOH, ask + SH0 + to-Ve| HER to donate FA| SHIZA| AFBERACH

ol e Eojias Aol o] P2 =507} 5
= SAIRIE0| 0jd p.p. 2 MO} BICt 20f
202 SA1S e 2001710 SAIRIEO] OK p.p. S

@ — move 2

O (LR} (FEAL + to-Ve| HENE SHE= ZM[0|CE. ELHAR! His novels?t
OXI2I0fl MO 24SAR! are0| SHIZ| ML E8E It is hard to read his novels 282

read?| X2 His novelsS Y22 ELH, His novels are hard to read. 2892 HIH0 =
HIZEA| ARZEIRAC

@It is no use ~ing T2 S0{EE= 2A0ICE It is no use ~inge ~ollRA AEGICHSl 9
D[0|, 0|9 22 S 2= It is of no use to—V, There is no use (in) ~ing7t UL

@ (ENRE (every + =ALS] FEHE SHEE= 2HOICE be p.p.7t 7101 US M= EE SHEE
wolez, Foig ”O¥ sl M 2olof Btk 0! ‘A2 HIER oh= 20| ofd ==

moving

Aoz kg = 20170 £SEHQ! is painted’t SHIEA| MRACE L5 everye 7[2HC2
FHoll AT 2= 20| L0 |XITE everyZt 2 0|42 7|48 JHXIT LI every2t= Fof
=R N % 2L} MatA, every five years Al SHI2A| AZERICE O] If every= (~OIEHE
QRSN

@ (XZASAL+ X0 + SAFHE/~ing/p.p.)g& E02= EX0IC SX0E 210 S42 dlotH
SAEE 22 ~ingE 41, SAZ BOH pp B £0 Tt 71E0| /SR OIME 2= A=
A2 #liot= 21017101 SAFREER! movelt ing®l FEHQ! moving22 TTX F0{0F St

authority =, 2ol Hel &

arrest AIZsiCh

distract 2| sich HE0| oF =[] sttt
donate 7[SaiCt

(=contribute, endow, subscribe)

it is no use of ~ing ~al2toF AZICH
(=it is of no use to-V, there is no use (in) ~ing)
persuade ASAICE HSAIZ|CH=convince,
talk into, induce, tempt, win over, pull round)
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I @® convinced that making pumpkin cake @ from scratch would be

3 even easier than @ making cake from a box.

TE I BE 3 oY 71 x| p2 A2?

When you find your tongue @ twisted as you seek to explain to your
@ six-year-old daughter why she can’t go to the amusement park ® that
has been advertised on television, then you will understand why we find

it difficult @ wait.
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@ — was convinced 22 convinced myself

S8 A0|FE OFF XMSEH Pt=Es 20| BIANAM L2 70|35 Ttes HEC 2 4 4
2 21012t L= SHAIRKCE
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Of7L2 MESIC}. TIXARE FI0l BALE ~ing7Zt 0kt VIt 2 4~ SiCh
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H2 MM 55 20IX| b=Ct B

SHEXIE S20E= Z A0,

‘six—year—old FAFS| FENZ HAL 0l £ ZR0ll= yearE
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EH @2 (FAt that V)2l FEZ ZHIL0] ALZEIRUCH,
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convince SHIAIZICEL ESAI7|CH=persuade.
talk into, induce, tempt, win over, pull round)
make ~ from scratch

OFF XISEE| ARSIt
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twist HISCH

seek to—V ~of1 =H5ICE O MOt
(=try to-V)
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It would be difficult @ to imagine life without the beauty and richness

of forests. But scientists warn we cannot take our forest for @ granted.

By some estimates, deforestation @ has been resulted in the loss of as

much as eighty percent of the natural forests of the world. Currently,
deforestation is a global problem, @ affecting wilderness regions such as

the temperate rainforests of the Pacific.

rlio

oY SX| ¢2 W27

@ Fire following an earthquake is of special interest to the insurance
industry.

@ Word processors were considered to be the ultimate tool for a typist in
the past.

® Elements of income in a cash forecast will be vary according to the
company’s circumstances.

@ The world’s first digital camera was created by Steve Sasson at

Eastman Kodak in 1975.
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richness 3223 5
warn Z15iCH=caution, give a warning)
take ~ for granted ~Z G5 0{7|Ct
estimate = F4
deforestation AF2! i
result in Z=251CH=bring about, bring on,
lead to, contribute to, create, cause, effect,
incur, induce, produce, generate)
A result from B A7t B2FH Zf=lCh
AQ| &2l= BO|CH
as much as 2
affect Fals FCH=influence,
have an effectlimpact, influence] on,
exert[exercise, wield] influence on)
wilderness region & 2& X9,
A s 71
temperate rainforest =t 22

earthquake X%

insurance =%

of interest to ~0i7l £0| U=
insurance industry =&
ultimate Z|19); Z=%¢!

element 24(=factor, requisite, component,
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income 2 A5

forecast 0OZ(=prediction, prophecy)
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circumstance A%, 24
(=surroundings, situation)
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release
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pay back

in passing
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(=discharge);
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radiate)

~0il SJEsIcH
(=depend on,
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about

repair
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see off

spoiled

make believe

lose track of
time
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result in

identity
identification
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portray

cafe.naver.com/withzeus

of, th=k
(=approximately,
around, estimated)

2

Hi=, &, Hets|
(=precisely,
accurately, correctly)

Shh oKL At

IAH]

4

o

AS BE HHICH

~

i

BHSSICH
Q0| Xt

~Ql HSiCt

(=pretend)

N

[HHB)

I
rz

=
S

~Z Zelfsich,
Of7[shct

(=bring about,
bring on, lead to,
contribute to,
create, cause,
effect, incur,
induce, produce,
generate)

A
(=)

L}

A

=
rio
Lo
©

oor



%

i

HO
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result from

victim
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syndrome

swing vote

see Aas B
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a number of N
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two—party
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seek after
play a role in
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independent
— dependent
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conservative
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(=uncommon,
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R SRl 2R
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(=undamaged,
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unimpaired)
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think of)
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with certainty

mercy killing

condition

undergo
(~underwent
—-undergone)

unbearable

remission

a second

consult

follow in one’
s footsteps

go into
business

find out

cooperative
competition

instead of
~ing

take the test

on one’s own

know of
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QA

(=euthanasia)

zE(Hg] +~ ole
(=intolerable,
unendurable,
unacceptable)

~0f ChaliA 2ot

archeologist

identify

urban

civilization
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tool

drainage

diversify

economic
archeological
evidence
inference

reconstruct

deficiency

electoral
system

constitutional

confront
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raise ® ~= 27|t
arise ® +47[Cf LSt
rise ® QECH S2ict ojLich / @ S0t 45

Several problems have raised — have arisen or have been raised

@ The committee commanded that construction of the building (should) cease.

AR 2x]2] 62|

insist)

A g
- ROt , z
s . {propose. suggest)  that S (should) V
- B(order, command) : ~3HoF BictT
- 27ask, demand, require, request)

AIRIUAIE HEste 22
® that Ol3tel LGOI H2IME LIEIIX] 22 T

— The witness insisted that the car accident had taken place in the crosswalk.

SARK= XISAH AR7F AEZ0|A LORAC D FERCE,

@ suggest7t ‘F2|, YAlstCrel 20|

— Your question suggested that you doubted my sincerity.

Lol ZBL U7} Lio| FINBIS olstn UCks HS UAIST UL

© They had to fight against winds that will blow(—blew) over 40 miles an hour
iz \% will V(X) — 2tAV

ARIZX|

S+V that[2I2AH S +V
@ $ixH(say) @ 2EAIM(had p.p.H2l)

 ai(said - BVed) (22 A210] 2
p-p

- BpR(had
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JIE 300X [=Em 100H]

O (XI/EFSAL = survive)
survive ®@ HOIECh ME[ES]GHC
Only the man survived in the earthquake.
QX 1 EHAHEHo] X|ZIofA AOoFE AT,

@wé
=

Many animals didn’t survive the severe winter.
B2 SE50| 1 55t 7422 AC{LX| YL

A U/ ~2ot o @24 ATt

His wife survived him by 10 years.
J19| Ot IECH 104 o 22 AUCH

—
@ emerge: ® LI2CH FAEICH

had been emerged as — had emerged as

v |
@ By 1955 S +V ~ , and he embarked on {A[X[)
niy| A

© (BASAL whereby)

! \
HAt whereby S + V (2tXSt

O<{bet+toV)
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S
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— He made me repair the computer.

- the computer repaired by me.
5 t ]

@y
let + SH0 +: ~ #xxx
y @ be + p.p.

oy
— She let  me use the computer.
the computer be used by me.

O ask + +  to V(5I2im)
a7sict if/whether S + V(2Ix| 0f17x|=) ;
= o - 9|2 AKwhen, where, why, how, how+8/5) + S + V[to V]
(21X, OICIA, o, oA, HotLt S7} Vek=X[to VEXIIE) '
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JIE 300X [=Em 100H]

O [SEAH/ BA + to-V

0
~ll = 2 80| GiCt

It is no use ~ing
It is of no use to V
It is useless to V

There is no use (in) ~ing

There is no ~ing ~ingst= %

© every + H=N + HaV

— every second hour SAIZFOICH

ro

=7tssitt

every two hours / days / weeks SAIZHOtCH/ O[S0tCH/ ZAS2(250t0)

o
X[ZFSAL A SAt

- see[watch] =0t :
. hear ECt L+ 2E0] 4+
- feel =7ict L

- make BHSCHAZIEH ;
: have Al7|Ct L+ 2E0] 4+

et s12sict

— | saw a family moved(X) in upstairs.

7t

— move / moving
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@ convince + [ of BAH(E/E)

that S+V
EAAZICE  oflA AE 7t Sith=

=

— S be convinced [of ~ / that S + V]
7t SHAISICEH ~& |/ S7tVsitts AHE

@ {from scratch)
@ o2& AR ZH|[X|Al]810]
| learned German from scratch in six months.
L= SYUHE orF A X[ gl0] 67HE THojl HHRIC.

@ W XMNSFE
They decided to dismantle the machine and start again from scratch.

OS2 3 7|AE SstisiM W MSFE CHAl ARG |2 234

© very easier (%)

still a good deal + H|wE[-er/more~]
far a great deal
- vastly :

@ making pumpkin cake - than [ making cake (Zx)

to make(x)
WA=
toV : (to) V
- ~ing - andor.but]  ~ing
2thatS+v thatS+V




JIE 300X [=Em 100H]

ﬁd
@ find + X0 + AL

YAsICH 7t sitE As

2t

@ the six—year—old HAt

— the HA} six years old
]

@ YAt that V. (ZACHHAL that)
t

at=

thatQ| CjYsH Mol

That + S + V (&F) ~V [Z0d]
R 7t si= ~ i}

S+ Vt+that +S + V (&7H) [2X0]
= st %2 7t sk

S + be + that + S + V (2X) [E0]
= ook # 7 sk

QHIHAL that V/S + V(E&F) [ZHAIAH

3h=/ 7t h=
ZAHAL that S + V(2HH) [5A]

2h= S7t Vvaict

v \
ZAEAL that[at, on, in which] S + V(&%) [ZHAIEAH
7t sk=

¥ \
O|RHAL that[for which] S + V(&)
7t sk=

v \
AlZtHAL that[at, on, in which] S + V(&%)

7t sk
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= |
p
so ~ that S + V(&X)
4 ~aliA 7t St
in that S + V(&%)
2o 7t 3St7)
except that S + V(2t%)
H2lst 7t &= AE
that + FAKY TAIS 71212) [RIAAL
1
The nose (of the pig) is bigger / than that (of the rabbit). [XIAICHEAL
2= (EAx]2) oact / FHC} (E712])
O It=EH0)
find + it + SSA + L to V
V(x)
v/ HEAME $AI517] 2ol o] X2l “BAFE £ 5 UCH
" think it AL (for + 2H0]) to V
MZESICE o] SiCtn (~o0l/7h st= 20|
: [=]
sa(0) A
find
D @gdsit a%o| sl %2 (~ol/7h 5t= ol
make
3 2HSCt JRE SHAl (~0l/7h) sicte Ag
feel
4 |ct o] [y (~ol/7t) st= 20|
N\
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